ECE 370
HW SET #4


1. A Single-phase bridge voltage source inverter (VSI) and its waveforms are shown below.
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The IGBTs Q1 and Q2 are turned on simultaneously, and the input voltage Vs appears across the load. Then Q1 and Q2 are turned off and Q3 and Q4 are turned on simultaneously. If the load voltage is Vab, then show:
a. The rms value of the output voltage is:


b. If the instantaneous output voltage in a Fourier series form is:


Then the rms value of the fundamental component n = 1 is:     



2. For Problem 1, if VS = 48 V and load resistance is 2.4 Ω, then find:
a. The rms value of the output voltage VO
b. The output power PO
c. The rms value of the fundamental component V1
d. The rms value of harmonic voltages
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